lef

ad |
fe S
==
o

= L
I

2 T
w0

HB

€18'8T §

£99°08S°T $
16L°L8 §

(Lg9o's1) ¢

LO0T Ad

00887
99.°086°T §
orE'ce
(€80'70) %
SLEETS'T $
9007 Ad |38H ¥00C Ad

) 30y

TSUOTJOIA] MO 39)HIIWO0IGIS

(pury 1BI9Pa] %001) WEBUNODY JN-YVHD 10 14 050 PPV — 02 A #
# 4 Aq :spesodoiJ maN -+

(puny [239pAJ %001) WeID d[(1-AVHD [eI0pay] oseatou] — y¢ dd +

(puny JeIopaj %001) MEBIL) YOIea§ JUS[E ], [BIOPa,] 3Sealouf — €7 Jd
# dd g uounsnipy meT Juasald -¢

:(pung [e19US8 o%¢ pue puny [BIPS] % /6) siudumsnipe mef jussaxd spimajes aaoxdde of, -7

:(puny [e1duad 9, ¢ pue pury [eIapay %/ 6) 198pnq J8ak oseq oaoxdde o -

T§9)0 A /SUODOIA




